
*S81228A0244*

D
O

 N
O

T W
RITE IN

 TH
IS A

REA
 		

D
O

 N
O

T W
RITE IN

 TH
IS A

REA
						





D

O
 N

O
T W

RITE IN
 TH

IS A
REA D

O
 N

O
T 

W
RI

TE
 IN

 T
H

IS
 A

RE
A

 		
D

O
 N

O
T 

W
RI

TE
 IN

 T
H

IS
 A

RE
A

						





D
O

 N
O

T 
W

RI
TE

 IN
 T

H
IS

 A
RE

A

2

1.		  In this question you must show all stages of your working.
		  Solutions relying on calculator technology are not acceptable.

	 Using the substitution  u = x2  or otherwise, solve

4x4 – x2 – 18 = 0 x ∈ 
(4)
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